RKC4.4T-P7X2-2/TXL

RITESMERES B4 . PUR — Connection cable

48.5

50

bk RKC4.4T-P7X2-2/TXL
®5 6626795

BERHA #3k, M12 x 1, B, A-coded
HHBE 4

il = 4F , Cuzn , S

il SRR ¥R TPU, B
TEEF B, TPU, 3 3EH

E IR RET 4, CuZn, &4

Seal B, FPM/FKM

LED display dual LED

Display operating voltage LED , &6

Display switch state LED , #®&

W E > 100 EFREK
BREE 3

RipER IP67, IP69K, RIEITERAET
B4

SKEER @ 4.5 mm +0.20
KEKE 2m

ZHPE PUR, &
S&BGEM PP

LR EER 4x0.34 mm?
RE% , HE 42 x 0.1 mm
ZEme BN, WH, BU, BK
BHSHRE@20°C

HEBRE 30 Vi

izt B 2000 V

B3R 4A

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|3

L= gy
5~
1P67/
UK RoHs 2
C n compliant DEGREE OF
PROTECTION

)0)0)o)l Y
2 L A b
Waaa =
W45+ M12 BRI K BES
W# 2@ LED (PNP, &, &) ,2AETN
EPEMRK : PUR
NP ERSR : B6
WEA T s
EibER, FENL, i
W EAMEMME (UL 1581 FT2, IEC

60332-2-2 )

WHEE AT

EFEXE, B, PVCHLABS
4 5 T EE IR

MBS ZE - IP67. IP69K
MESEKE :20m

SEEEE

R R DB

RKC4.4T-P7X2-2/TXL| 25-02-2025 03-53 | R BHEARHIEHR



FAREIE
2WH
BEEH > 30.5 MQ/km 18BN 38U
Em s B A{E 57 Q/km 4;(
WAL= E8E
Tk (BEXRE) > 5 x0
TR () > 10 x@ BB %
2R dh M2 4R
EER 258A rEN
B IR 5% 5m/s? | 43_iBK
| 4>
B TEBRE 5m (5 m/s? i) | N Vava
L lsu-
RUYEBAERE 2m (5 mis?Ed ) ; T
BIFBEAIRE 3.3m/s B—
5 5 +180 °/m
RERE (B ) -50...+80 °C
WEEBRE (B3) -25...+80 °C
MERE (185 ) -25...+60 °C
B ¢
HAS8141-0 6905406 HAS8241-0 6905400
TR TGN LEERE | M12x 1, P7 T ELAKEESE  M12x 1, B
ER 44, BERIZERE B3| RE 44 BERIZEE  BkE]
£4.0-5.1 mm, EEEBHEH/LHRAE £4.0-5.1 mm, ELEBH/LHRRE
s 2 0.14-0.34 mm? , BRAK , SRIRD 0.14-0.34 mm? , BEAE | 2EBE

14
(e

= "‘J‘I:

e |

5
Mi2x1 13

BS8141-0

69010

N EL N KERES , M12x1 | B
B 44 IRRER iR ER | BHE
B3 34.026.0 mm |, LSEBE/E

KREAAREI0.1420.75mm? , B
A%, 2 EEERT

BS8241-0

©20.2

69011

i SRS, M12x1, B
X, 44, IREERIBLE | &8sl
4.0F6.0 mm , KSEBEH/AEEET
AEA0.14F0.75 mm? , BRINZE |
&8 B ER4T

~60.4
5 5 L5
0202 18 4 13

i Mi2x1 o =33

M12x1 B
~13

FW-ERSPM0426-SA-P-0408 100002048 FW-ERSPM0416-SA-S-0408 100002288

MG AL N LERE , M12x1 | B
4%t HEARER , B8455]44.0
E8.0mm , LEEBH/IELETER
F0.14F0.75 mm? , BRNFE , &8
[E ESR4T

DA AL N SKIERERE , M12x 1, B
B 4% EREERELAAERE , B4
£%4.0F8.0 mm , LOEBE/IEEE

AAMEIR0.25F1.5 mm? , BHEIHNFE |
S B EEIRET

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|3

RKC4.4T-P7X2-2/TXL| 25-02-2025 03-53 | R BHEARHIEHR



FW-EWSPM0416-SA-S-0408 100002290

MIF AL N L ER/YT , M12x1 B
AR 45, BERNBLAERE , B4
B|44.0E8.0 mm , &S EmE/IEL
HUAER0.25F1.5mm? , BRI
=, 2 EE TR

L—QZO—-I

BLANK-LABEL-FOR-CORDSETS-TEL-TXL 6936206

TEL M TXL &4i%r% , KE : 18
mm, B :4mm, #¥  RERERE
(PC) , His : A& , F2xE , M

B4

RYH ke

LABEL-HOLDER-FLEX-PVC

TORQUE-WRENCH-SET-AS

%5
100048170

6936170

MIERFELE ; HEAFHE0.4-1.0
Nm , AIFM8 (SWORIRERTF , A
FM12 (SW 14)HI R FERF

BATFFRERLEHHIPVCIRER ( TEL/
TXLE@RRY ) ; EANKSER : &
N5mm ; RYH4 x 18 mm ; BFEM
% . §850%4

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 3|3

RKC4.4T-P7X2-2/TXL| 25-02-2025 03-53 | R BHEARHIEHR



